Coral Springs
39 Grade

Bear Blitz

180 Days — Math Fluency



Bear Blitz

Day 1
OA.14

1. What is the value of the unknown number in the equation 72
+ =9?

0A.1.4

2. Anequationisshown.4x9=9x___ . What is the missing value?
A 4
B.5
C.9
D. 13

0A.1.1

3. David has 45 model cars he wants to display in equal rows. Which
equation shows how David can display his model cars?

@ 7%9=35
® 6*9=45
© 8*3=45
® 9*5=45

0A.1.3

4. An array is shown:
I
I
I
N

Which of the following expressions can be represented by the array?
@ 7%4 O 4+4+4

® 7+7+7+7 ® B*7)+@4*7)

© 2*7*2*7) ® 4*7



Bear Blitz

Day 2
NBT.1.1

1. What is 751 rounded to the nearest 100?
@ 700
740
© 750
O 800

NBT.1.1

2. What is 644 rounded to the nearest 10?
@ 600
640
© 650
©® 700

NBT.1.2

3. What is the sum of 456 and 249?
@ 605
695
© 705
©® 715

NBT.1.2

4. What is the sum of 189, 263 and 3587
@ 810
800
© 710
© 700



Bear Blitz

Day 3

NBT.1.2
1. Select all of the expressions that are equal to 427.

@ 571- 144
243 + 194
© 355+ 72
O 685 - 262
® 444 17

OA.l.1

2. Tom has 36 trophies. He wants to place an even number of trophies on
some shelves. Choose all the different ways Tom can arrange his trophies on
shelves.

@ 8 shelves with 4 trophies on each shelf

6 shelves with 6 trophies on each shelf

© 7 shelves with 8 trophies on each shelf

O 4 shelves with 9 trophies on each shelf

® 9 shelves 3 trophies on each shelf

® 12 shelves 3 trophies on each shelf

OA.l.1
3. Michelle is planting a garden. She wants to plant 28 flowers in equal rows.
Choose all the ways Michelle can arrange her garden.

@ 12 rows with 3 flowers in each row
7 rows with 4 flowers in each row
© 8 rows with 3 flowers in each row
O 4 rows with 7 flowers in each row
® 2 rows with 14 flowers in each row
® 6 rows with 6 flowers in each row



Bear Blitz

Day 4

OA.1.2

1. Select all the situations that can be represented by 72 + 9.

@ Mary has 72 flowers and places an equal number of flowers into 9 vases
Mary has 72 stuffed animals and she gives 9 to her friend

© Mary solves 72 math problems each day for 9 days

O Mary has 72 nickels she stacks them in 9 equal piles

® Mary has 72 dolls she places them in 9 equal groups

OA.1.2

2. Select all the situations that represent 64 + 8.

@ Michael has 64 rows with 8 chairs in each row

Michael walks 64 minutes each day for 8 days

© Michael has 64 football cards and he buys 8 more each day

O Michael has 64 pictures he pastes an even number of pictures on 8 pages
® Michael has 64 cookies and he eats 8 cookies each day

OA.3.7

3. Select the factor pairs that equal 24.
@ 6and 4

7 and 3

© 9and 2

© 8and 3

® 8and4

OA.4.8

4. Ms. Austin has 44 markers and 6 tables. If she keeps 2 markers, which
equation can be used to determine how many markers to place at each table?
(U7)

® 44-6+6=0 © (44-6)+2=0

® (44-2)+6=0 O (2-44)+6=0



Bear Blitz

Day 5
OA4.9

1. A partially completed multiplication table is shown below. What are the
missing multiples of 67

xlof1|2]3]a|ls5]6]|7

olojolofofo]o]o]o

1lo[1]2]3 s |6 |7

202 68|10 14

3(0]3 o [1z]15[18]21

4|04 12 20

5/o0]s 15]20]25]30]35

6/0]|6|12|18]24]30]36]42

7/0]7 |14 |21]28]35 49
a.12, 24,42 b. 6,12, 18
c.12, 24,44 d. 12, 24,42
OA.4.9

2. A pattern is shown in the table below. Choose the answers that complete

the table.
Cakes | 2 | 3 |4 |5] 6|8

Eggs | 12|18 |24

A.30, 36, 42
B 30, 36, 48
C. 30, 35,40
D. 36, 48, 54

OA.4.9
3. A pattern is shown below. Which statement correctly describes the pattern?

9,17, 25, 33, 41
® Add 8 © Add 9
Subtract 8 ® Subtract 9



Bear Blitz

Day 6
NBT1.2
1. What is the sum of 576 and 3477
® 923
913
© 823
©® 813

OA.4.8

=_. SAuaartirbBEber armnd bheaer Triendcd s collecitecd
Shell=. The tabhle shhowws Fioww rmesaEanrs
shells eachh praersonrm collaectaecd .

Hhwell=s CTTolleciteod

Il = T Bl s e il S e D=
A e ==
Ml e=lE= = 5.5
FPabhlaca = 1
THaw e S1 5=

WAk = thhe Ebneskt aostirrnatte b thhe
=l rawarmnier OofF shaells AarTiboeaer sSaencd
Fakla aocollectecd 7

. SO w— S
Ex O [ = TR = L

OA.4.8
3.

Ao. LTIy wweribes a mnumMmiber semntenose that
shows the Commutative Propaertoy
of Aaddition. WwWhich could Be Aoamiy ™ s
murmibber sentence’7?

(53 +— 9 4+ 41 — 53F + (9 4+ A1)
53 + O = 53

41 = 24O + 1

5 +— 9 — 9 + 53

eoamd



Bear Blitz

Day 7
NF.1.1
1.

. . 7
. Each model shown has been shaded to represent a fraction. Which model shows 3 shaded?

NF.1.1
2.

A fraction model 1s shown. What fraction does the model represent?

s 4
A — @ =
b 10 \_:I g
=y B 8
C) — ) =
ety a \_:I 8
3.
. What fraction is represented by the total length marked on the number line?(US8)
0 1
N
& 4
® 2
@ 4
©232
© 5

©



Bear Blitz

Day 8

NF.1.2

1.

Which number line is divided into fourths?(U8)
@A) - | | :
B < l I l } t | o
© f : —»
D f { =

NF.1.3

2.

.Jenny and Sylvia both brought 8 dolls to the flea market to sell last weekend. The shaded portion
shows how many dolls each girl sold.

L ] JOl®) L] JOl®
o000 000

Jenny's Dolls Svlvia’s Dolls

Which comparison correctly compares the amount of the amount of their dolls each girl has left?

v B S (11\3 .5
A)—=>= (C) — =2 —
—~' 8 =8 ~'8 8
= 2 _ 3 - 6 5
B S <2 D==2=
=g =373

NBT.1.1

3. Which of the following numbers will equal 900 when rounded to the
nearest 100?

@ 888
856
© 843
O 943
® 987



Bear Blitz

Day 9
NF.1.2
1.

). Which letter on the number line represents E‘?(US)

Y T Y

&
-

@

©
U N w

©

2.

L. What fraction is represented by point A on the number line?

A
<! L >
0] 1
® 3
®
© -
© 3

. Mary and Abbot both ordered the same size pizzas. Mary cut her pizza into 8 slices and Abbot cut
his into 4 slices. Mary ate 6 slices of her pizza. How many slices of his pizza does Abbot need to eat
of his pizza to equal the same amount of pizza Mary ate?

Marv’'s Pizza Abbot’s Pizza
@ 2 ©e6
® 3 © 8



Bear Blitz

Day 10
MD.1.1
1.

A clock i1s shown below.

AThat time is shown on the clock?

@A) 8:37 © 7:32
® 7:37 D 8:32

© 12:57
B 1:57 D 12:52

3.

Ted arrived at the playvground at 7:30 and left 45 minutes later. What time did Ted leave the park?

7:00 7:30 8:00 8:30
L | | I
I I |

9:00
i : ——
7-15 7-45 8:-15 8-45 9

,_._-
]



Bear Blitz

Day 11

M. The mumiber of campraenrs at
Avarowvehread Carmpy was 12 oy Foealwys
arndd <1135 imn ASAauagust. How rmearesye
CEMPErS wWwere al Aarrowwh eadad Carmp
irn Jualy amnd Aaagust coarmilbirnmec 2

e o
:

Mlzwis amad hher friemnds cocollectedd
bottle caps. The table shoaowes Frow

many bhottle caps each paersanmn
crllectad.

Boittle Taps CTollected

Mamo mortie Came
HKa=rem ==
FAawis= =255
Pedro =1
Jdabura =15

WA i

i= thhe bhrest estimate of thhe

total mumbeaer of bottle caps MWiawis
arnd Pedro collecteod™?

a1 O = SO

= =0 [ S S L]

=. The craft stors hhad 1571 bags of

beads. It sold 128 bhbags. Howww rma iy
bags of bheads arse left?

voae
W
W



M D_' 2_'3_

A degmresed rmesacias =3 it re gogreEa ey 2o
Shheress himgeess mmEretss fraaSarbsle=s aaamacs b
FPElases=r h=cd seshiille pleassirnsrg = S rTseEs

e ] e
e B e e e e

Fle=ries T T

B e Esschy i — 3 emeacs ke e

Hl s rascanr s e r e e wwmsremee= By e e
irs =ll—F

S e = 1 u =
- == = == E

= o mmrTie SaSsloecd e First =25 e bes
rpEmiraey irnEcs AFres meaEil T cshhca = =

Foaasawpr e Taogae= afF rraci=sas= [ Free Easmr cprsmps
S rresass e re=sse s lBss

—=ai
==
==

=

—
==
===
_—m
=—

_

I cpesmss e e (e o e s e
risicshk fharm BEBhvacss ™

N = [ |
- = = =

3.

Jerel madeae a pictures graph o showes
the murmibeaer of sunnmny dayws his city
had im Jurne anmnd July.,. Thiis is thhae
ey to Jerael™s picture gragaib.

Key: Each =il — 10 days.

Hovenwr smiarmy swrinmy cday s odoe

Ik o JoF - stand for?

- = — =0
e =1 > S5



Bear Blitz

Day 13
1.

The Bendez famiihy recycdesd glass
bottles, The piciure graph sPeoaes
e reurmiber of Bstilbes the enddes
fFamily recycled cach wweake

Wireallkly Baoattles Recyclsrmss

[ ch
., -

Hres rrvaaryy BEolilles ohid Ukhes Fawrmilbg
reacycle cduring Wesk 1 amd ek 4%

L = = 22
m 12 o S5
Faory and his classmates vobteo for

U= daneowrile: clavss acbneity. They
argarnizesd ihe dala in o B&ally takie

Fawvorite Class Acgiwity
Class Sclivity Tally

Smanresn Far HH W

Euglka Sals 11}

Filne=s=s Fun Gay HH
Class Py JH 1

Hoewrs many studani=s choss the
Soience Fair and Fitness Fun Ckasy ™

O 5 = =20
= 1= B 2=

3. 9X9= 4. 7X8=

5. 6X6= 6. 12X3=




Bear Blitz

Day 14
NF.1.3

7.James and Adeline were both painting equal sized fences. The shaded portion of the fractions below
shows the amount each of them completed.
James Adeline

1
1

‘Which comparison correctly compares the amount of fence painted by James and Adeline?

= 3 1 P 7
A = > = o= <=
- 8 8 -8 8
—. 5 7 5 7
B = . o= > =
- 8 8 - 3 1

8. The shaded portion of the fraction models below show the amount of an identical construction
project completed by two different companies.

Company A Company B

Which comparison correctly compares the amount of the construction project completed by the two

companies?
@212 ©2ci
~ 8 3 “ 8 6
a6 ~ 6 3

3. At a high school football game, the visiting team had 274 fans. The home
team had 173 more fans than the visiting team. How many fans did the home
team have?

Solve the problems:
4. 703-285= 5. 680-395=




Bear Blitz

Day 15

1. What is the value of the unknown number in the equation 6 x 3 =1 ?

® 3
® 9
© 18
@ 63

2. Match each number to the value of the number rounded to the nearest 10.

180 190 200
i81 Y] (& @
186 © = ®
194 @ (C)) @
=. Maurice and Gina each hawve a container of water, as shown.
Maurice Gina

wWhat is the difference, in liters (L), between the amounts of water in
their containers?

4.9,687
-7,346



1.

Bear Blitz

Day 16

Select all the situations that can be represented by 35 = 5.

Heidi has 35 apples after picking the same number of apples each
day for 5 days.

Heidi has 35 apples and places an equal number of apples into
5 baskets.

Heidi has 5 apples and needs more apples to deliver to a customer.
Heidi has 35 apples, and her friend gives her 5 more.

Heidi has 35 apples and gives 5 of them to a friend.

Fimd the guotients to complete the table.

3.

Problerm Duotient
54 =— 8
83 = 9
30 = 6

Ao multiplication table is showwn.

O I N N N A N N Y
o|lo|]o|o|lo|]o|lo|l]o|l]o]o]| o

o 1 = s |lals|ls|] =7]l=]|2 |10

o|lz]al|le]|l s |i1oliz]1alis]r1=a]=z0

o |z 6| o |izlrs|islzi]zal=z]=0

o|a]s |[1z]lie|zo|zalze]|=zz]zs]a0

o | s [1o|1s|zo]|zs |30 zs|aclas]|so

o |6 |[1z|1s8]lzal|zo|zs|az]as]|saleso

o | 7 [1alz1]zs]|zss|[az]ao]ss]|s=z]70 P —

o | s |1e]|zalzz2]ao|as]|ss]|sal7=2]=0 Bl =-cea

o |9 |i1s|z7|3s|as |sal|sz|7z2z]s1 |20

o [1o]zo]|=zolao]|so|so| 7ol=so |20 100 |:I Unshaded

WVvhich statement correctly describes how to find the multiples of 6 in
the multiplication table?

R
Ly

&
=>

=
oy

Fimnd all the mnumbers that end wwith &.
Fimd all the mnumbers that start wwith &.
Fimnd all the shaded mnumbers that would Mmeet at an unshaded &.

Fimnd all the nmnumbers in the same row or the same column as a
shaded &.




Bear Blitz
Day 17

1. Alex goes to the grocery store at the tirme shown.

Ar what tirme does Alex go to the grocery store?

Ly F:52
& 10:07
() 10:37

'

G 11:23

2. Select all the expressions that are equal to 324.

& 372 — 48

& 660 — 346
© 119 + 215
@ 728 — 404
& 216 + 108

3. Nimna has 32 baseball cards. She wants to sort the cards into 8 egual
groups.

Create a multiplication eguation that shows how Mina can sort 32 cards
into 8 equal groups.




Bear Blitz

Day 18

1.

On Monday, a bookstore sold 75 books. On Tuesday, the bookstore sold
125 books. The bookstore must sell 500 books by Friday.

How many more books must the bookstore sell by Friday?

@ 200
& 300
e 375
@ 425

2.6,789
+ 34

3. Ms. Yost has 20 boxes of markers. Each box contains 5 markers. How
many markers does Ms. Yost have in total?

4.

Which expression is equivalent to 7 x (2 + 3)7

@ (7x2)+ (7 = 3)
® (7+2)x(7+3)
© (7x2)yx (7 x3)
® (7+2)x3

5. 2+2+2+2=



Bear Blitz

Day 19

FPam tossed a coim 20 times and
recorrded her results imMm a table.
She then made a picture graph
usimng the data.

Coim Toss Results

Heads T=ails

= 1=

Coim Toss Reswuulits

Heads O O O O
Tails O O O O O O

Kewy: Each ) —  coin tosses.

Vvihiat mnumibeaer should Pam wirike im
the kKew ?

2

NAlr. Rover s students made a limnes
Plot o show the muamiber of bhoolkis
theyw read last maoaomnth.

-
-

<
el < -
1 1
5 L=

|
e = =
NNMuouarrmiber of Boolis RRead

Howw manmy students read boolks

Howw mannmy studeanmnts read smTaorme
thamn ¥V boolks s




Bear Blitz

Day 20

Cabaot= is prllayinocg & reeaEathy cogsarreee
wrrilhe MefMessadi=cors. CFabootlta wrrr ol

e e T e

Wil = aarmmaoathier wwasrys Lo =Shaarwess wwrlbneaEa e

= B il e i e "

- T =
= 2R =
E = -
= T e

M- M Tartirn Saepoaratecd Faiis ocormegpeoritbesnr

aleaa== Iimteae» =} graaoagzr=_. I Fhhwers ar=
S o =mmtuaadesrvl=s iry esEmacahbe oo s o

steacde=mt =

Flaowas rmmmary sStuacderaii=s == i
M- NeMMamrtinm™ = clas=s"7

. =
= =
L — 1=
==

=

Lucas winote this mnumbaer sentaence
Lo Firnd v dliffersemt wway=s Lo
arramngese his postcarcds im am alboumm.

L= i = |
Viihiat factor weill makese Lucas’
mnurm ber sentencs truae™?
o =1
= =
= 1=
> 35



Bear Blitz

Day 21

Lomi= = = bhoxes of cars. Therrnese are
= == irn ==k o=

[ [ [ [ 1 [ [ 1 [ [ [ —
L] L] L] L] L L] L] L L] L]
L 1 = = -1 = = - = = e
Howe rmmany cars cddoeae=s Logil=s Frasw=
i =l
o L=
[ =7 ==
= L=
s A

Fawula direws thi=s array oo =shows
Fnaowsr Fner artweecorrk is odisplaswaecd ore
thre= wramlile

B § |
Wiy rriwuilti plicationrn Ssaemntarncacse adaoaeeae=s
this array Sheaomes.s
— 1 =
— =1
=3
m =

poed
R
LA
NN G
||

3.

A set of shapes is shown.

N

Describe the geometric attributes that all the shapes have in common.



Bear Blitz

Day 22
NBT1.2
1

Complete the addition sentences to show
the Commutative Property of Addition.

3 + — 4 + =

2.

Thaere are 3 cookie jars im Jermy’'s
Frouse. Jermmry looked im each jar anmnd
fowund that each jar had O cookies.
Wirite a multiplication sentaence that
showvws howw many coolkies _Jaermy
fowmd i all.

OA.l1l

3. Tom told Mary he planted 21 flowers in the
rectangular—shaped garden. Select the correct sentence Mary

could use to describe how the flowwers were Plah‘[‘ed.

e 4 x5 B. TO = 11
L 12 =< 2 . 2 =7
OA.1l1
= Ty has to plamnt 24 floveers in the garden. Complete

the table o showve = d]‘f-:lfel’el‘rt Fdesigrrs Ffor bhowve T Par=—a1 =1 Plal‘rf

the floveaers.

MNoims ber ot

Mearmlboer of Pucowves —
ezlearmms

De=sicgry 1

Desiagry 2

Desigry =




Bear Blitz

Day 23

OAl4

A, fﬂL;[tip]IcatiDrj prc:-h]ern is shown.
Hx7T =17

that is the va[ue of the unknown number?

MAFS.3.0A.2.5
2. Write humbers on the blanks to create 3 dl'f:f'erent
expression that is equa] to (7+3) + 5.

(7 +3) +5=( + )+

MAFS.3.0A.2.5

3. Which expression is equal to 6 x (2 + 3)?
A (6 x2) +(6x3)
B. (6 +2) x(6+3)
C. (6 x2) x(6x3)

D. (6 x2)x3



Bear Blitz

Day 24

MAFS 3. NBT11

1. What value is 654 rounded to the nearest 1007

MAF5 3. NBT 11

Match each number with the value of the humber

rounded to the nearest ten.

220 2350
225
228
MAFS S MNBT. 11
=3 A Round 556 to the nearest hundred

E. Round 556 +o the nearest ten.




Bear Blitz

Day 25

ALAFS S MNMFT.T

1. Vwhich model shows 75 shade=d?

|
-\ ‘ - B | T T |
B .

MAFS S MNMFT1T

jur wWhich madel shows 3% shaded?
. & - T
=1 |
B_ I [
MAFS3 NBT13
=4 Select all expressions that have a product of 240.
o 3 x Q0
o 4 x 60
o & x 7O
o 6 x 40
L= ] =18



Bear Blitz

Day 26

AMMAFS S MNMEFTT

T
1. Vvihich model shaows 5 shaded?

~ M T 1T 7T1T1: =

B |

= Theraes @are @ aEarniimiaESrmisS O S ey
fFlexcor o Seaeamry™=s appartrraernt Ereasilcllireeg-
T k= Ewuaildirncg hhas S filaaoor=s. Flaomww
rTrEEare aEerartrmeaents are im Saeanmnn™ =
Srpr=artrrrern it Exveg illacdirneg 7

- 1=
= =1
— =T
= =k

=. Pilar spent 548 on & books. The
cost of each ook was the same.
Which eguation can be used to
fimd thhe cost of one book™

A FAB — S
(=] oL - = &
o 548 > — &
=7 5 > — 548



Bear Blitz

Day 27

OA2.5
1

Select all the expressions that could be used to
find 6 x 10.

6x(2x5)
6+ (2 x5)
(Bx2)x5
10 x 6

(B x8)x(6x2)

00000

OA3.7

2.
Select thhe factor pairs thhat egual 24.

and
and
and
and
and

0

0

0

0
ANORW
hbhWwiow

0

OA.4.8
3.
A DOOoOKsTore has 4 boxes o1t £ZU booKs In

each box. On Monday, the bookstore
sold 16 books. How many books remain
to be sold?

NBT.1.2
4

“"WWhbhhat is the swurrm o of 1L S5S=3 armndad 24



Bear Blitz

Day 28
NF.1.1
1.

Janmn and Laura have a total of 32 same-
sized cookies thhey want to divide eqgually
between the two of therm. They divide
each cookie in half as shown.

G _

WWwhat fractiormn of thhe cookies should each
girl receive?

OA.3.7
2.
Complete thhe table to find the guotients
Problermrm Cuotient
&4 =— 28
53 = 9
56 = 7
MD.1.1

3.
Alex arrives at the grocery store at 3:00 p.m. He leaves the

grocery store at 5:00 p.m. How many minutes was he in
the grocery store?



MD1.1
1.

Bear Blitz

Day 29

Alex has chores every day. The length of time, in minutes,
of each chore is shown. He starts at 9:00 a.m. Complete
the table to show what time he will start and finish each

chore.
Time it
Takes to
Complete
Chore the Chore Start Time | End Time
Watering flowers 12 minutes 9:00

Sweeping kitchen

7 minutes

Dusting all rooms

14 minutes

MD.2.3
2.

John survevys his classmates about their
favorite foods, as shown in the table.

Fawvorite Food
Pizza 8
Salad 5
Hamburger 2

Click on the graph to complete the bar

graph.

Number of Classmates
Q i8] b (0)] (03]

Hamburger

Salad Pizza

Type of Food




Bear Blitz

Day 30

MD.2.4

1.

~ per‘lcn IS SNOWSIM.
A —

| 1 T T T | T T T
0 1 =2 3 <3 = S il L= L= 1T 11 12

What is the length of the pencil to the
Nnearest whole inch?

OA.2.6
2

U'rag numpers TO Tne DoxXes TO create TWOoO
true multiplication eguations that could

be used to solve 10O =+ 5 = M.
O x5 =
5 x»x0O0 =

Palette objects: 5, 2, 10

MD.1.1

3.

Alex arrives at the grocery store at 5:15 p.m. He leaves the
grocery store 75 minutes later. Place an arrow on the

number line to show the time he left the grocery store.

5:30 6:00 6:30 700 F:30 8:00

1 | | 1 | 1 1
1 1 | Pl

- T T
5:15 545 6:15 6:45 715 745
Time (pm)




Bear Blitz

Day 31

MD.3.7b
1

A park is shown.

11 kKilometers ——————————»
r e

13 kilometers

wWhat is the area of the park in square
kilormeters?

G1l1
2.

For each shape, select the properties
that apply.

SN/ /

has
four
sides
has two
pairs of
parallel
sides

G.12
3.

A2 souare is shhowewrn. Part of the sguare is
shaded.

_u

Wi hlich Ffractiormn of thhe total area of thhe
sguare does the shaded part represenmnt?



Bear Blitz

Day 32
G.1.2
1

A rectangle is shhowwnrn.

Shadese % of the shape.

MD.1.2
2.

NMark has the container shown.

— ————)

[ 5 liters
—a
— 3

I

=L

How many liters of water are in the
container?

MD.1.1
3.

A clock is shown.

What time is shown on the clock?

8S8:00 a.m.
10:00 a.m.
12:00 p.m.
2:00 p.m.

0N



Bear Blitz

Day 33

MD.2.3
1

John surveys his classmates about their
fawvorite foods, as shown in the table.

Fawvorite Food
Hot Dogs 5
Pizza =
Salad (5]
Chicken 3
Fish 8

Click on the graph to create a bar graph
that represents the data.

=1

N & O OO

Number of Classmates

Hot Dogs Plizza Salad Chicken Fish
Fawvorite Food

MD.3.6
2.

Adex put thhe tiles showwrmn om his floor.

[ ] 17 reot

1 Faoaot

Wi hat is thhe area of Alex'"s floor imn sguare
feet™



Bear Blitz

Day 34
NBT.1.2
1.

Which equation shows the Commutative Property of Addition?

A (53 +9)+41=53+ (9 +41)
B 53+0=53

C 41=40+1

D 53+9=9+53

NBT.1.1

2.

Choose the table that correctly shows the original numbers rounded to the

nearest ten.

Qrnginal Rounded to
NMumber | the NMearest
Teaen
4135 430
639 640
711 710
A
Original Rounded to
Number | the Nearest
Ten
427 430
645 640
715 710
B
NBT.1.2

Qriginal Rounded to
MNMumber | the NMearest
Ten
424 430
652 640
704 710
Qriginal Rounded to
Number | the NMearest
Ten
429 430
642 640
709 710




Bear Blitz

Day 35
MD.2.3
1.

Lauren made a bar graph to show the types of sandwiches her classmates
had for lunch on Wednesday.

wednesday s

Number of Studerts

- = o
R o -
S =

Type of Sandwich
e

P

How many fevwer students had a ham sandwich than a chicken and a grilled
cheese sandwich combined?

s 21
B 17
[ 9
i »] 8

OA1l1l
2.

WWhich scenario matches the eguation 43 = 127

O ED

o~ Mrs. Briggs has 12 birdhouses in her yvard. There is enough
room for 3 birds in each birdhouse. How many birds can fill
Mrs. Briggs' birdhouses?

B Bertram started his rock collection with 3 rocks. He now has 12
rocks. How many more rocks does he have now?

[ Sam wants to buy boxes of chalk. Each box of chalk has 3
pieces of chalk. How many pieces of chalks are in 4 boxes?

j=] FPaige reads a book with 4 chapters. Each chapter has 12
pages. How many total pages are in the boolk™?

OA.14
3.

A division problem is shown.
8 equals divided by 8

wWwhat is the value of the unknowvwn NMIuMmber?



Bear Blitz

Day 36

NF.1.1
1.

Susan folded a piece of paper into equal parts as shown below.

What fraction names each equal part?

A fourths
B thirds
c triangle
o whole

NF.1.2a
2.

WwWinich fractiomn mnames point S omn the nmnumber lime?

A
Y

SRR

D.

W g Ny
N
w

Use the table to answer thhe qquestion.

Aldexa did a survey to learmn vwhich music her classmates liked best. She
wwrote the results im a table and will use the data to make a picture graph wwith

a key of *= 2 students.

Faworite NVivssiac

Kind of Music NMoumber of Students
Pop =
Coumtry 3

Howw rmary * should Alexa draw for Pop music?

gney
NN <<
NERVE



Bear Blitz

Day 37

G.1.2
1.

Tad divides a rhombus into equal parts that each show L \Which could be

2
Tad's rhombus™?

A . =
. L/ . i

NBT.1.3
2

éonia bought 6 boxes of crayons. Each box has 50 crayons. Which number
sentence correctly shows the total number of crayons Sonia has?

A (6x20)+ (6 x30) =300
B 6x50=350
c (6>x30)+ (6>x30) =360

D 6x(25x25) =360

MD.4.8
3.

Mr. Jones wants to put a wallpaper border around the room shown. He will
use 36 feet of wallpaper border. What is the unknown side length?

10 ft

4 ft

8 ft

6 ft
4 ft

3 feet
4 feet
5 feet
9 feet

onwE e



MD.3.7b
1.

Madison owns a carpet-making company. If the width of each carpet in the
table is the same, which shows the missing length of a carpet with an area
of 80 square feet?

Bear Blitz

Day 38

Total Area
(in square
feet)

20

40

60

80

Length (in
feet)

10

15

20 feet
25 feet
40 feet
60 feet

NBT.1.2
2.

onwe

Madison solves this problem. She says the difference
is 419. Explain the mistake Madison made. What is the
correct difference?

NBT.1.2
3.

Choose the property that makes the statement true.

Identity
The Commutative
Associative

number sentence 17 + 1

Property of Addition describes the

645
— 236

— 1 + 17.




Bear Blitz

1.

Day 39

Shang shared 28 postcards among 7 different people.
Each person received the same number of postcards.
How many postcards did Shang give to each person?

(G 4
"B.‘e' 5
© 6
D 21

3. 9565
-9560

28 = 7 =n
7 X n= 28



Bear Blitz

Day 40

OA4.9
1.

A pattern 1s showmn below. Which statement cormrectly descmibes the pattern”
Q. 17.25, 33, 41
A0 Add 8

—,

(B Subtract B
S Add 9
D Subtract 9

A partially completed multiplication table is shown below. What are the mussing multiples of 67
xjo] 1 2 3 4 5 4] r
ojolo] o [V] 0 [¥] 0 [] A 12,2642
1 1] 1 2 3 5 (a] r
2| 0] 2 (4] 2 10 14 B, 12,18
3 1] 3 o 12 15 18 21
41 0| 4 12 2 S 12, 24, 44
S|lo| 5 15 | 20 | 2 30 | 35
6|lo]le]12] 18] 24|30 36] a2 S 12, 24, 42
Flo)| 714 | 21| 28 | 35 49
What 1s 751 rounded to the nearest 10407
A0 00
@ 740

D 800



Bear Blitz

Day 41

NBT.1.2

ATt st swarws oedE S5O0 S el ST
S e TR
ey ol =
o =B S
Eo =L =

NF.1.3
2.

1. Mary and Abbot both ordered the same size pizzas. Mary cut her pizza into 8 slices and Abbot cut
his into 4 slices. Marv ate 6 slices of her pizza. How many slices of his pizza does Abbot need to eat
of his pizza to equal the same amount of pizza Mary ate?

Marv’s Pizza Abbot’s Pizza
@2 © 6
B 3 D s
NF.1.3
3.

. Mr. McMichael 5aid§ of the studants 1n his class made the honor roll. Which fraction below 15
equivalent to %?

= &
I\&}E

()

cax | pa

@.

(= .
=
[ -



Bear Blitz

Day 42

NF.1.3
1.
Choose all the fraction inequalities that are true.
11 — 2 3
2373 2375
3_ 2 7 8
®3>3 B5<s
a s E_ &
©3<s B33

AMhat time 15 shown on the clock?

& 11:05 ) 12:57
B 1-57 = 1252
MD.1.2

3.

- Shama has a container How many milliliters of water are in the container?”

&30 T35
B 40 D 45



Bear Blitz

Day 43
MD.1.2
1.

Valarie has two beakers. The first one contains 8 liters of water. About how much water 1s in the
iecond beaker?

A 6 liters T 4 lters

B 2 liters D 8 liters

MB.2.4
2.

What 1s the length of the pen to the nearest whole inch?

1 = 3 4 o & 7 8 9 10 11
A 8 inches E_.l"é mches
B 7 inches D 6~

MB.2.4
3.

Mr. Davis made a line plot to show the distance traveled by the employees at Grover Technologies

x
>3 X
X X X > 3
X X X X X
5 52 52 s2 6 6> 6=
2 4 4 2

4
Distance Traveled (in kilometers)
Vhich distance 1s traveled by the greatest number of emplovees at Grover Technologies?

@ 6= © 6
®6 =

©
wlh



Bear Blitz

Day 44

MD.1.2
1.

Alan weighed four apples and saw they weighed 2 pounds. He then added two oranges. How much
i1d the two oranges weigh?

Tuecsday

Wednesday = 2 Hamburgers

Thursday

Frniday

How many more hamburgers were served on Monday then on Wednesday”
@2 © 8

B 5 D 10

MD.3.6
3.

. Reginald is going to tile his sidewalk with 1 square meter tiles. The diagram below shows the area of

his sidewalk.

1 meter

1 meter

How many 1 square meter tiles does Reginald need?
& 28 < 33

B 36 D 42



Bear Blitz

Day 45

MD.3.7
1.

2. 0r. Gruliana is going to pour a concrete foundation for a new plaveground at the park The diagram
below shows the area he needs to clear before he can begin.

12 yards

——Tyards —

What is the area, in square vards, Mr. Giuliana needs to clear for the playground?

A 19 square yvards T 38 square vards
(B 72 square yards D 84 square yards

OA.1.2
2.

Sheila has 36 stickers and 9 notebooks. She places an even number of stickers on sach notebook.
Which equation shows the number of stickers on each notebook?

A 36-9=6
B 36 —9=27
©36-9=4

D 36 =9 =234

OA.14

3.

8 diwiasion problem is showan (LT )

e = [ divided by &
W hat is the value of thhe unknown oumber?

FEo o1
B S
= 18
.@. =S



Bear Blitz

Day 46
OA.4.9
1.

A multiplication table 1s shown below. Ise the table to choose all the correct statements. (

x o 1 2 3 a4 S L] r a2 = 10
(] o o o o o (8] o (=] Lu) o (=]
i o 1 2 =] - =] =) 7 B8 9 10
2 o 2 (=1 8 10 i1z 143 s iB 20
3 o 3 (=] 12 15 18 Z1 24 27 0
e o “ B i1z 20 24 zB 32 56 0y
= o 5 10 15 20 30 35 40 45 SO
(-] o & 1z is 24 30 42 A5 54 50
T o T 14 21 28 as a2 55 &3 T
8 o 8 16 24 32 40 a8 Se (=5 T2 80
o9 o = 18 27 356 45 54 63 T2 81 =L ]
10 o i0 20 320 <y 50 (=) T 20 o0 100

& All the missing numbers are odd.

B All the missing numbers are even.

) All the multiples of 5 have a 5 or a 0 in the ones place.

I Al the multiples of 4 can be decomposed into two equal numbers._
(E) The multiples of 6 will always be even.

E) An odd number times an odd number is always even

NF.1.2
2.

Whaich letter on the number line represents E‘?(TJE)

WL L s

o 1

A
BB
-@C
DD

MB.2.4
3.

What 1s the length of the screw to the nearest half-inch7

l'3|"l'|'l'|'lIllIII|Ilrl'l'II'I'I'II'II'III'I'F'II'II'II'II'I|III|I
1 =) = <1 5 (=] rd 8 9 10 11

. =d -
= inches

8
fi
-
b
@)

-
B 5% inches T 6 inches



Bear Blitz

Day 47

MD.3.7
1.

A diagram of a Greenwood Park 15 shown.

8 miles
Al
=
E
o
=
3
4 miles
What is the area of the park™
(A 20 sguare miles ) 44 square miles
B 48 square miles o 52 square miles

MD.3.7
2.

The perimeter of a Marta®™s vegetable garden is 36 feet, as shown below.

Vegetable

6 feet

Sarden

=

f the height of the garden i1s 6 feet, what 1s the length_ =<7

& 8 feet =) & feet

(B 12 feet D 16 feet

NBT.1.1

3. Tell whether each sentence is True or False.

a. 496 rounded to the nearest 100is500. TorF
b. 205 rounded to the nearest 10 is 300. TorF



Bear Blitz

Day 48

MAFS S MNBT.11

1. vihat value is B48 rounded to the nearest 1O 2

MAFS S NBT.11

Match =ach nurmber with the value of the humber

rounded to the nearest ten.

T80 T
181
185
19<%
MAFS S MNBET 11
=% A Round 7586 to the nearest hundred

E. Round 7546 o the negrest t=n.
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Day 49

M-S FS S F.T1.1T
a. Vo hich mraedel shaves 9% shgdedg s

Pl FS = NFT.T

= edbhich madel shawes =9 shadedgs

~ ‘ I I .

E. | =
M FS S SNEFECT.T
= H.uowe rramyr e:—_]'{.l..—:l[ parts can this trapezoid be

Fivided inmnt=7y Plac=e mnauarmbers in the boaoxes £ shoaowvw £he
fracticonr of the vwwhole =gk tria—l—:\-gle Fepresaryis.

Each ug S rpe= wrlhreale

]

Eacls ..‘.. is ='__= =f the vwlieal=.
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MAFS S MNBT.1.=

K
A
=1
0

1 Py ulfﬁpl}'

MAFS S MNBT.1.=

=2 _-"-.-‘uulfjphv' i

MAFS S MRBT 1=

= Salact a3l expiressio s that hawve
L] g e

L ] £ 2 B

b S = SO

“»

8 x50

=






